Instructions : Each question has four options.
There is only one correct answer to each
question. Choose the MOST APPROPRIATE
option and darken/blacken the corresponding
circle on the OMR Answer Sheet.

SECTION—*A’{ LANGUACGE @

001 Complete the sentence with the co_rrec.t"
form of verb -

Thetrain_______ suddenly.
(1) *isstop =¥
’ stopped |
(3) was stopping_-
(4) has stop

002 Choose the sentence having intransitive-
verb. '

(1) Boys fly kites
@ siras 1y
}36 Karim ran a race
(4) He burnt his diary

003 Fill in the blank with suitable conjunction.

I do not know he has gone or not.

‘ whether

() if,
(3)
(4) yet

through

004 Complete the sentence with suitable
article -

Ram is student whom we all
expect to get less than 35% marks.

) a
':‘ ‘."‘. 1 g J" thc
% 43)  that

.8y angs i

005 Fill in the blank with cm_‘rebt preposition-

The sp,eal_cé;?'is going the subject.

28
@

®

4)

from -
off .
to

within

006 Fill in the blank with correct word.

‘Akbar’s army
Chittorgarh’.

(1) Cease
(2) Seize

| }6 Seized

(4) Sees

the castle of

007 Choose the correct meaning of “Beat the
air” -

. To make useless et’ﬁ:rts
()
(3) To be defeated
(4) To defy

To be victorious
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008 Choose the word opposite in meaning
from the given option:

THREAT
L
(1) MENACE -

ﬁ THOUGHTFUL

SAii_'E‘TY i
(4) PROSPER

009 Choose tjzs correct spelling from the given
3

"‘-"-s

£

options :
®- -

=4
i

(2) Sangtian -

(3) SaiBison -

(4) Sanccion 2
&

010 Choose the word opposite in Irieaning to
the giveny word.

1
Forgivengss

(1) Restore |

(2) Decline~
(3) Withdraw=

£3)

‘Reypnge
ir)
“ijt
011 Choose'tlie correct article from the given

option. ‘¥

He is
(1) a
)
M)
3) thg‘:;'
(4) Néferror

LW
ENIHOLAB16124__A ]

honest officer.

012 Identify the tense of the following
senlence:

The Sun sets‘in the West.

. Present Inc@%nite

(2) Past Indeﬁ@e
435 Future Inddfinite
4) Present Perfect Tense

013 Fill in the blank £

on
The _ oftiese products
good. =

O

1) quality, is O

. quality, are

(3) quality, were
L&)

(4) qualities, is%)

i

=ft
Read the following E‘éssage carefully and
answer the questions given below : Q. 014-018

It is believed thdth pashmina shawl is as
warm as six sweatersdti‘t is very thin yet very
warm. The goats from*which the soft pashmina
wool is collected, a&‘g found on very high

3 [Contd...
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altitudes of 5000 metres. In winter, the
temperature here drops below 0°C (—40°C). A
coat of warm hair grows on the goat’s body
which protects it from extreme cold. The goats
shed some of their hair (fur) in summer. This
hair is so fine that six of these would be as thick
as one hair of yours! '

The fine hair cannot be woven on
machines and so weavers of Kashmir make
these shawls by hand. This is a long and difficult
process. After almost 250 hours of weaving, one
plain pashnmina shawl is made. Imagine how
long it would take to make a shawl with
embroidery.

014 Choose the correct option to ﬁll.in the
blank:
It is believed that a pashmina shawl is as
warm as
three sweaters!
six sweaters!

(3) nine sweaters!

(4) ecleven sweaters!

015 Choose the correct statement:

The goats shed some of their hair

(fur) in summer.

(2) The goats shed some of their hair
(fur) in winter.

(3) The goats shed some of their hair
(fur) in rainy season.

(4) The goats shed some of their hair
(fur) in spring.

EN/HOLAB/6/24_A] 4

016 Choose the correct option:

After almost of weaving,

plain pashmina shawl is made.
(1) 100 hours
(2) 150 hours

(3) 200 hours

. 250 hours

017 *“A coat of warm hair grows on the goa

body which protects it from extren

cold.”

Identify the part of speech for ‘hair’ froi

the given sentence.

(1) Verbx

. Noun

" (3) Pronouny

m - Adjective

018 Choose the opposite of ‘thick’.

(1) warn

(2) soft
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019 Identify the adjcctive from the given
options -

High

Found

Birds

)
©))
(4)

Remains

020 Fill in the blank with correct degree of
comparison:

I have money in my pockét.

(1) Notsomore

021 Choose the word that is opposite of real

(1) Reward

(4) Modem
022 Choose the correct spelling-

(3) Receeve

(4) Receecive

EN/HOLAB/6/24_A ]

023 Choose the correct option to improve the
sentence and replace it with underlined

word -

‘Did there bus come on time?’

. their

(2) theirs
(3) their’s

.
-

(4) No improvement ..

024 Choose ihe correct option to improve the

LY

sentence.

‘Ram left the house before Shyam got .
there’.

' }l’j will leave
(2) leaves

. had left

(4) has left

025 Fill in the blank with suitable question tag-

‘I needn’t ask him, 2

(¥ canl

(2) amlI

(3) aren’tl

] . need I
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Instructions : Each question has four options.
There is only one correct answer to each
question. Choose the MOST APPROPRIATE
option and darken/bldéken the corresponding
circle on the OMR AJ‘SI}ver Sheet.
SECTION - ‘B’{;WATHEMA’II_CS
Lo
026 Which of the foIlowmg is the correct
representatio ing Roman Numerals of
the number 1

IcC* o
CXCIX &,
{

L
027 A number writterk?using Roman Numerals
(XXT'-XV) — Vil MCLXXITII

qual to W0
MCLXXIII
) MCL

(2) CLXXXXIX
(4) ICCCD

(2) MCLXVII
(4) MCXLII

028 Harlsh driveschis car at a speed of |

45 km/hour. Hommuch time (in minutes)

will he take to driye 12.km? .,

8 9 gl (2) 12
16 WO @) 20
W0

029 Raman covers a distance of 24 km in
40 minutes. If he increases his speed
by 4 km/hour, then how much time
(in minutes) wil] he take to cover the
same distance?(X)
(1) 28 V9]

. 36-- o U

030 Amrita went to"8'market for purchasing
stationery items for her son. She carried
¥ 500 with her. She paid ¥ 135, 50 for the
notebooks, ¥ 30.50 for pens, ¥ 3.75 for
erasers, < 48 fon a box of colours and
< 142 for a Gébmetry box. How much

2) 32
(4) 38

money is left Wi\ her?
1) T13225 9 (2 T142
7 140.25 4) T145.75 x

0
EN/HOLAB/6/24_A]

ot : yeder W9 & <Y fereney & 1 9eie 997 67 ey
ga WE I &1 WA SYgH [Jehed Pl G S OMR

TGRS TX T J Bl BT o |
1)
.'.;j}
o — B it

¥%)
026 Fraw ¥, g 199 mﬁmmquﬁrﬁaw

FE?
(1) ICC (2) CLXXXXIX
(3) . CXCIX G (4) ICCcD

027_%@%@%@#@

XXT =X V) — VITI&/ICL)OGH

oo T e?

() MCLXXIII  (2) MCLXVI

(3) MCL (4) MCXLIO
()

028 &T AT FIX 45 ﬁ-ﬁ@rfaaa?rﬂﬁtﬁamar
%llzﬁsﬁrwﬁﬁagmw(ﬁqﬁq)
e ? (O
(1) 9 W @) 12
(3) 16 4 20

029 T 40 e ¥ 24 Rl g T a2 19l
T T e 4 RRY/HET w9 % < Sw g @t
T 6 A 9% Ree g (R ) dme
(1) 28 sf(2) 32
3) 36 O (4) 38

(V]
030 3T T I & FoTe e wrnl wrde ar

T 198 T 500 AT el 1599 T 135,50 il
& o, ¥ 30.50 eyl & g, T3.75 @@ @
forg, T 48 I @&, fesat’ & fag o
¥ 142 vt i g geng 1 e
ﬁm’rrrﬁra‘wa'c?r%ﬂ

(1) T132.25 LO 2) T142

(3) T 140.25 @) T145.75
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031 If tl}e average of numbers 12, 15, 19, k
and (k + 5) is 13, then the value of k, is:

3 @) 3
g

@) 13.5
032 The average weight of five friends
weighing 48 ke, 50 kg, 53 kg, 55 kg and
‘49 kg, is : |
50 kg
51kg
(3) 52kg
4) 53kg

033 Readthe given statements and choose the

correct option:

Statement - I: Two distinct lines can | - |

intersect in more than one point.
Statement - II: More than two lines can
pass through one point.
(1) Only statement I is true »*

Only statement II is true <

Both the statements are true »
(4 Both the statements are false

034 If x = 30 and y = 120, then value of

16 E—+5]+l is:

(2) 84
@ 117

>
(3) 21

EN/HOLAB/6/24_A ]

031 af 12, 15, 19, kaar (k + 5) Eeanat & e
13% S kFTAAS:

(1 3
3 7

2 5
(4) 135

032 48 fum, 50 fopam, 53 fpum, 55 fepur @ar 49
fema W @y oier Rl @1 ofved WK #:

(1) 50 fepeiumr -

(2 51 frem

(3) 52 e

4) 53 et

| 033 A faw Faet o o3 it Wl e g |

et - 12 3 et e, e s gl T
uﬁ@amaﬁr%l |

5 - I Q1 o e s g & A o
W%ﬁ%l

(1) FaaammIads

@) Fmemlaat

(3) IR FTETS

(4) N DHuT o &

034 ﬂﬁx=303?l'€y=120‘5’t3ﬁ16['—;-+5)+1
@A &
(1) 85 (2 84
(3 21 4) 117
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035 Joseph borrowed ¥ 25,000 on simple
interest at the rate of 6% per annum for 4
years. How much did he pay at the end of

4 years? X}
() .
(1 30000 @B 231000 -
3) I3 1,800, 4) 31,920
W
036 In how many years will a sum'of < 1,800

become ¥ 2,610 on simple interest at the
rate of 9% per annum?

Q) 4

an @5
) , 1
(3) 6 i) 4) 45
<§
. . W)
037 The bcrimetci“’%f the given figure, is:
2 cm(-\Z cm
) cm
4c = 4
2em demif 4cm 26m
P
2cm *.: _>2-' cm
4cm ¢ 4cm
‘4ecm 4cm
2em2¢m
)
L) 32cmn (2) 40cm
48 cm lF{ (4) 52cm
|

038 Pinky runs a;gpnd a square field of side
50 m and takes 6 rounds. Shruti runs
around a rectangular field of length
160 m and breadth 120 m and takes 2

. rounds. Whé'covers more distance and
how much nﬁ‘)}c (in m)?
(1) Shruti,@l) m Pinky, 80 m
(3) Shruli,\‘ﬁg m (4). Pinky, 40 m

EN/HOLAB/6/24_A 8

035 W18% X T 25,000, 6% aiftfes s &, 40 %
%Q-WWWEWWTIW%4?&
ugar Reaer Tl g8 ?

(1) 30,000 Q (2) 31,000
(3) T31,800 (, (4) 31,920

{8
036 Q%ﬂﬁmﬁ%wmwﬁmﬁaﬁﬁ,
T 1,800 =¥ Tfdr, 2,610 & wray ?
(1) 4 5 @
% 1
(3) 6 i @ 45
= )
(e

037 agéar@ﬁrzﬁrwﬁq%%:

290 A2 A
&)
| 43| CO[4
2 diil u'cl)' 4%"2%
2 TN\ 0 >21?r¢ﬁ
adh | 9 43
43 4 J0
2 T2 ey
| )
o0
(1) 32%% 10 (2) 403
(3) 483 g @) 52
O

038 TRt 50 . W& AR T TR A H 6 TFHY
T & 1 g 160 H. @ wer 120 W, S T
AT & & 2 G AN § | i SAAD
T T T & fCRAee aiftres (oY, &) ?

1N .
(1) 4 80+ < (2) R, 80+
(3) i, 65 . tg 4) i, 40 =

[ Contd...

Download from www.MsEducationTv.com



039 The sum of the greatest 4-digit number and
the smallest 3-digit number is: e

(1) 10000 (2) 10110
@& 10099 4) 10999
5)

040 The difference ﬁg)t_ween_ the greatest and
the smallest 5-digjt numbers formed using
the digits 0, 2, 5\3 and 1, is:

(1) 45555 (2) 44444
(3) 43205 @ 975

Which. of the ff‘noiving Sumibers is
divisible by 37 ¢}

041

(1) 518932 117342
(3) 2134547 (o (4) 337625
A T A« Y
042 144 =+9%x2+6—-4=_272°
(1) 10 - @ 2
® > @ (4 64
; )
i

043 Jayesh and Mohan started a business by
investing ¥ 28000 and ¥ 35,000,
respectively. At the end of the year Mohan
received ¥ 6,250 as his share in-the profit.
The total profitdn the business, is:

(1) T9,200 W (2) 10,000
. < 11,250 Q 4) 12,250
w

In a 20 kg mixﬁrc of yellow pulse and
black pulse, there is 4 kg black pulse. The
ratio of black pulse and yellow pulse in
the mixture, is: o0

044

(1) 1:5 2 ;. 1:4
3) 4:15 G @ 1:6
D

EN/HOLAB/6/24_A]

039 4 3l o Fav &Y T 991 3 i B g9
DI G&4T &7 A1 B '

" (1) 10000 (2) 10110
3) 10099 4) 10999 .
3) c&_) 9

8¢

040 0,2,5, 3 e 1 oia Ty e, Tt T

(1) 45555 (2) 44444
(3) 43205 (4) 42975
o '

041 ﬂ%ﬁﬂémﬁﬁ%ﬁrﬁrﬁw3%ﬁwﬂ
¥? o

W
(1) 518932 \®) 117342

(3) 213454 (4) 337625

042 144+9x2+6-45H 9
g

(1) 10 1E2) 2
(3) 34 4) 64
L0
O

043 AT X g ¥ WA T 28,000 day
35,000 frarst oY T =9 & fovan | ad
% o N Hied & W S R v e ¥
¥ 6,250 firel | AR HGT W Fam:
(1) 9,200 iﬁﬁz) % 10,000

(3) T 11,250 \(4) T 12,250
- 4 ~.

044 el T ST DI ST & 20%mﬁmlﬂf, 4
TR Telt e %1 Rrspd el S ofik del
T A S & )

1
(1 1:5 w) 1:4
(3) 4:15 M) 1:6
\ '
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045

The decimal form of fraction %, is :
(1) 0.58 (2) 0.62
d 0.625 (4) 0.652

046

047

048

049

The sum of all prime number, less than

21,1s:
77

3) 41

(2) 67
4) 48

Which of the following statements are
NOT correct? '

A. Composite numbers are always even.

B. Prime numbers are always odd. »

C. Sum oftwo prime numbers is always

prime. o

D. Product of two composite numbers | -
‘ is always composite.

(1) AandDonly =

(2) BandConly”
, A, B and C only

(C))

A,B,CandD

A party was given to 30 children. Pizzas,

Burgers and Cold drinks were bought for

T 450, T 300 and T 270, respectively..

Everything was shared equally among 30
children. The cost of items given to each
child was:

1) T30
_ X34

What should be subtracted from the sum
of 3509 and 2165 to get 40097

(1) 3580 (2) 3530
(3) 2665 ‘ 1665

@) %32
4) T35

EN/HOLAB/6/24_A)

046

047

049

10

045,

048

ﬁﬁ%fﬁrmﬁzﬁm%:

(1) 0.58 (2) 0.62 .
(3) 0.625 4) 0.652
21 9 BT 9T S1vIog SEaTatl &1 AT &:
1 77 (2) 67

(3) 41 (4) 48

e R et & & B B i k2
A, H5Y GEIE a1 W e el ¢ |
B. oy HEand war foww seand € &
C. 2 oriea Heell 1 AN T ST e
BRI ¥

B i Sl B U e o wed
aqy

Faw At D

&aw B iR C

Haw A, B ek C

A,B,C3RD

D.

(1)
@)
®3)
4)

30 et i et & 1 wEaL: T 450, T 300
T 270 % frow, Tk o Siew-d @l
T | Yl g 30 F=Al A IE-qqEL qie
T | W e i <1 TTg WOTI T e o
(1) %30 (@ T32

3) T34 4 T35

4009 W<t HT & 1T, 3500 T 2165 F M
¥ | T Ul Wil ¢

(1) 3580 (2) 3530
(3) 2665 (4) 1665
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050

051

052

053

054

EN/HOLAB/6/24_A 19

M) 60% o (@ 76%
BG) 80% ‘ 85% '
LY
! '
W
The number whose 20% is equal to 10, is:
@ 30 @ 40
® 5o @) 56
> -
0
If 46% of a nuérﬂger is 115, then what is
150% of the number? _
W -
(1) 300 (2) 275
(3) 415 o 375
&)

® oorg

In an examination Divya scored 340 marks
out ot 400 marks. The percentage of
marks, she scored is :

A metallic rodx%:;s heated to a temperature
of 120° C. Latéi{'its temperature reduced
by 34° C and '@Een its femperature was
raised 'by 45° C. What is the: prcsent
temperature' of the rod?

(1) 165°C y (2) 154°C
131°c . @ 79°C
@ v
e
D
A vessel is hedied to a temperature of

62° C. The temperature of the vessel in

degree Fahrenheit is :

2) 94°F

(3) 664°F ) (4) 30°F
e

W

11

050

| (3) 80%

051

052

053

054

Tomelt wvem % R ¥ 400 s F & 340:376
I oA | Seh WTdiehT @7 WIS &

(1) 60% o @) 76%

0 4 8%

i)

i

\t)
T‘-ﬁmﬁﬂw20° lo%atm%s‘ﬂ?r
.30 @ 4
3) 50 o @ 56

X

6

i

aﬁﬁw@rmmﬁégﬁ 115% o 39 gEr
& 150% FME?

(1) 300 ..

(2) 275
3) 415 &y (4) 375
W
™ iﬂ

ﬁlﬁﬂ?f@&%’aﬁ @Pv?r % T R T
qE H A TYHE 340 3. " T Ok o9
T AYH 45° . TSN T | B T T

AR AT ?
(@)

(1) 165°C t}% ) 154°C
(3) 131°C 5 (4) 79°C
W
\0

T T B 62° CIRIHN qeb T fmar @
A BT A iR ¥ ¥

x)
() 143.6°T% L0 (2) 94°Tw
@ e6semm @) 30°ww
W
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055 Jaspal purchased an old car for¥ 1,18,000
and spent ¥ 7,000 on its maintenance. If
he sold the car for ¥ 1,40,000, then his

_profit percentage is :

(1) 10%

, 12%

2) 11%
4 12.5%

056 The supplementary angle of the
complementary angle of one tenth of a

right angle will be :
® o @) 88
(3 8r° (4) 101°

057 The supplementary angle of three times

of the half of a right angle is:
. A. Acute angle
| 'B. Obtuse angle
C. Rightangle
D. Halfofarightangle
(1) OnlyA (2) OnlyC

M OnlyAandD (4) OnlyBandC

058 In the given figure, the value of x is

a®

32° 50°

i N

» 19 2% 7
‘\ED

(1) 82 (2) 90

(3) 100

.98

EN/HOLAB/B/24_A )

055 wEaE 7 U gamr &K < 1,18,000 F @i
afit T 7,000 38 T@—@TE T =0 R of
S8 9% @It X 1,40,000 ¥ A<, < e ar
wism &:
(1) 10%
3) 12%

11% .
12.5%

)
)

056 THHIOT & THY HIT & YLHBII BT TYIHHN
¢

(1) 99°
(3) 81°

(2) 88°
(4) 101°

057 Tt Twar & o & R &1 T REen

BI:

A. R

B. oifmarr

C. wH&H

D. GHGI ST AT

(1) HadA (2) ®=wC

(3) HAFTASIRD @) Ha@BaRC

058 <Y &3 PRI N x & A &

32° 50°

(1) 82 2 90
(3) 100 4) 98

12
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059 Which of the following fractions will be
at the third place from the Ic fi, when these
fractions are arranged in ascending order?

25729
3! ,8_’1
2 & 5
1 = —
M 3 ' :
T 9
3) — 4) —
@ 1 ® 3
060 Arrange the fractions 2, -‘3,-2—,3 in
9°5° 11" 7
descending order :
2222 233 2
O rres W 5°7°9°11
2 2 2 2 2 222
3 o e Rotr o 4 el Eowe Sy fowwe
()95117 @ 11'9°7°5 |
0 5 4 7
61 The largestamong the fractions ; TT)
and i,is
13
5 4
1 = 2 —
(D 5 (2) 3
7 6
s 4) S
*‘ 12 ® 13
5 13
062 What should be added to o to get ) ?
] 1
[ @ 5
144 9
65 ) 17

EN/HOLAB/6/24_A ]

- 059 Pr=fRae R @ oY wa & Ty 9T 9
o & S W@ T T P B e

(1) % @ %
® 3 @ =

060 55 1ry Pt SO
B

061 2,4 T qor b A @ vl wmrd
o'II’12 " 13 .
(1) -3- @ =
® 4) %

062 %WW*WiﬂWWW
feg ?
M o @ 5
® o @ =

Lo [ Contd...
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063

064

Match List-I with List-II :

List-I

Half of' a circle 1.

Half of the @ 1L
&)

longest chord)

i1

\Q
0 IIL

segment which

List-II

A. Diameter

Centre of

circle

of a circle

The line Semi Circle

divides a circle

. i

in two e_qua% -

parts 1)

All diameters’
W)

of acircle )

intersect at a

IV. Radius

point
Choose the correéffoption from the below:
(1) AL, B-L, GHI, DIV
9 A-IL, B-IV,@-I, D-II
A-IL, B-IIL, G TV, DI =
(4) A-IV, B-IIL, C-II, D-I x

In the figure O igythe centre of the circle.

If AB= 8 cm theilithe thofOPis:
(1) 6cm g?, B 4cm
(3) 3cm O (4) 5cm

{8

EN/HOLAB/6/24_A]
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063 F-1 @1 FA-II & rer e o

a3

064

LA

-1 TA-II
i L it
p— ' \0)

C. WA A I sy
AW A Gien =)

D. g% e Iv;z;ﬁm
e ¢ B
AT B &

et & F wdt e g

N
(1) A, B-1, C-IL, D-fY
(2) A-II, B-1V, C-, D‘ng
(3) A-II, B-III, C-IV, Ddb
(4) A-1V, B-Iil, C-II, D-I

ampfr 3 O g o v X1 48 4B = 8 Y,

o
&4
1)
=i
W)
Xe)

W OP & wvs &: 15
1) 63 Qs
3) 33 (405 0
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065 Three cloth pieces of length 7 m, 7.5 m
and 9.5 m respectively are cut in pieces of
identical maximum length. The length of

each small piece (in cm), is :

@) 30
N

The LCM and HCF of two numbers are

(1) 25
(3) 40

066
150 and 25, respectively. If one of the

numbers is 75, then the other number s :

@2) 32

»-

(1) 29
3) 40

%

A shopkeeper bought a table and a chair |

for T 1,900 and ¥ 600, respectively. He
sold both the items to Ankit with 15%
profit. How much Ankit paid for the table

067

and the chair?
(1) 2,515
2) 2,590

(B) 2,785

. 32,875

EN/HOLAB/6/24_A ]
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065 H92 % & Zwel Rrwenr warg was: 7 4,
7.5 qraar 9.5 9 ¥, B THer Sifemad T
¥ e & orer T | T B g o g
@)Y

(1) 25
(3) 40

2) 30
@) 50

066 -%’rﬁwaﬁ%agﬁqwmﬂfamw
AeaE 150 @ 25 ¥ 1 afe deanstl § 9w

e 75 %, AgmlEEn
(15 29 () 32
(3) 40 4 50

..'_;, 4

067 nqaaymrr%qmﬂmﬁt%gﬁmar{
¥1,900 &K T 600 ¥ w1 e S agd
- iftha @Y 15% W & a1 el sifehd ¥ AW

(1) 22,515
@ 2,590
@) T2,785
@) T2,875
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068 2.6kg+3kg700g=_2

)
3)
Q)

069 The side of a cube formed by melting a

solid %’boid with -~dimension
Scmx8cmx9cmis:
<&
6 cmgO (2) 4cm
3) 3cm® 4) 5cm

070 Eight smal]l cubes each having edge
2 cm are@tranged to form a large cube.
The volumg of the large cube (in cm?) is :

8 (2) 60

4 72
o))
071 If the costyof 420 oranges is ¥ 2,520 then
the cost d‘gﬂ dozen oranges, is :

(1) T48Q iz) 7528

(3) %540 3 576
(@)
072 If 16 bagg cost ¥ 1,520, then the cost of 3

O
48 o
64

bags wi‘;l@:c: ¥
(1) ¥ %g" 2) ¥255
(3) 270 T 285

EN/HOLAB/6/24_A ]
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068 2.6 Rreium + 3 Redmm 700 9™ =__2

(1) 6 Recirm 300 7
2) 5.6 Reem g
6 sﬁaahumz.oozrm';g

0
(4) 6.7 RrdnmT ©

069 waﬁﬂmmﬂ%ﬁmqséﬁrxsﬁw
9 €, ﬁﬁmamwmggwwrwaﬁr

o ¥ : m
(1) 69 (21)9 4
3).3&w. - (43!‘J 59

070 &e B o, R & wewsT Rer 2 3 8,
Y T T U9 S & N; foar
T2 O BT e (@ H)F -

0
(1) 48 @D 60
3) 64 @ 72

071 u&420wﬁma§q%z}zo%,a‘rsﬁ=r

I Bl e & 0
!
(1) T480 @Q» 528
(3) T540 @y T576

i

072 afy lﬁaﬁrmwgﬁlsbo% r 3 Tl o

e B
(1) T240 @ F 955
3) T270 «) ?ogi

[ Contd...
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073

074

075

b\

~ Which of'the angles in the given figure is/
are equal to three right angles?

Le antéz:éc only
Ze orLl‘)R
ZLe onéf:

ZLe, Zc, Zf and Zg only

©))
3)
C))

Name the ty% of an angle whose measure
is 26° moretthan the difference between
the angles 1%" and 82°.

(1) acute afigle
(2) obtuse angle
. right a&gle
4) reflex 8l
4) guele
!

. W
Two angles@f a triangle are 40° and 50°,
respectively. Name the triangle based on
sides and angles.

(1) Scalcq%and acute angled triangle
.Scaleﬂgand right angled triangle
(3) Isosw'lkg; and obtuse angled triangle

(4) Scalene and obtuse angled triangle

EN/HOLAB/6/24_A |
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075

17

a

(¢

90° &

Ly
<

Vo)
A 53 ool &, FR-aE A B B 99 9
mﬁw%?

(1) ¥t e Lo
(2) Faw ZLc :?)
(B) Fuw Le <
W
(4) 9w Le, A&, Lf aur Lg

90°

d |

c

074 wa?mastmg[lﬁ'ﬁaaﬂw 146° e

82° % Y Bl B T A 26° iE T
(1) =g ..@

@ afmEm o

() W
@) EE‘«‘?I“I_ o
€0
mﬁum%ﬁ%mﬂmmeﬁtsm%t
waﬂamaﬁvﬁ‘ﬁ;mﬁawhgazmw
gdqm:
() ﬁrwgamggﬁﬁ’mﬁgw
(2)  foroarg e frge

L&)
(3) wwlgag qepiimsr B

(45 fawEg au'tgr&mm [ELGl
[ Contd...
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Instructions : Each question has four options.
There is only one correct answer to each
question. Choose the MOST APPROPRIATE
option and darken/blacken the corresponding
circle on the OMR Answer Sheet.

SECTION - “‘C’ : INTELLIGENCE

076 Arrange the following in top to bottom
order: '
(A) Hand
(B) Face
(C) Heel
(D) Knee
(E) Neck
Choose the correct option from the
following: -

(E), (B), (A), (D), (C)
Q (B), (B), (A), (D), (C)
(B), (E), (A), (C), (D)
@ ®B), (E), (C), (A), (D)

077 Choose the correct mirror imzige of the

figure (X) : ’>\
XN A A YN[
(X) @ ®® ©© @
(1) (@ 2 ®
) 4) (@)

078 Find the missing term in the following
series:
HFD, NLJ, TRP, _? .

YWV () ZYW
ZXV 4 zyv
079 F_j}nd sth(_:, migsing number of the series:
0.3, 8. 15,24
(M 2 A 2). 4
8 4 .13

EN/HOLAB/6/24_A ]

Fer : w997 & aIY Rreed &1 9 997 %57 e
Ues el 9T 8 | waet 99ga foeed &) givd ot OMR
TAYRAHT IT TIIIT g Bl BT BHore

T — ¢C’ : giewmm

076 Fr=fafas o SR N F 79 ¥ Zafyg
PHIT —
A) =g
B) ==
©) &
(D) g
(B) ™
frrfafaa faeedl & @ 98 sox @1 99
PN —
1) ®), ®B), (A), D), (C)
(2) (B), (E), (A), (D), (C)
3 @B E)(A), (), (D)
@) B),(E),(C); (A), (D)

077 - Spfer () 2 et v s s g -
A AN Y
X) @ ® @@ @
1) (@ @ O
3) (© @ @

078 fr=fwRad sjawm § g« 9= & A HL -
HFD, NLJ, TRP, _? .
(1) YWV @) ZYW
(B) ZXV @ ZzZyv

079 < 7S NEen ¥ Fer S S DI =

0,3,2,15,24
(1) 2 ) 4
@3 8 @) 13

18
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080 There is a certain relationship between two -
given words on Ieft side of (::). Choose
the correct alternative for the missing term |

- il1‘ - .
using the same relationship.
fE}

Clock : Time :: Thermometer: ?

(1) Heat |£1_
(2) Radiation "

. Temperature

(4) Energy .s,

i)
rn

081 Complete the followmg analogy :
Cei3nmls . *r‘l

a s

@) 2
(3) 8
ey

@
£ty

082 Complete the analogy :

g

Lion : Den : Ho,rse
"i ‘¥ (2) Bam
il

(4) Burrow
083 Complete the paitem :
1y

Byre
Stable

OG-

M @ a @

i)

0
sl
(3) @ Ll
bl

EN/HOLAB/6/24_A]
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081

082

083

1_0_8‘0".'(::)35@7 A ard Rag g @ 9l & e o
"Piiaa were ¥ | et day qui e g 9=

wME? 2; '
i (S o) : ) e ;2.
=i
(1) o kgi}
0y
(2) fafeg 1
(3) T
4 et &
oo
i}
' “~fi ]
C:3:L: 2. v
1 5 @ 2
Gl B @ 12
i)
X2
9T 2 T e 28
h
reeve 1 i o e

hii}

O D ED -
¥ v 2
14
B I3
Lﬂ
@) @ ‘{.‘;}45
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084 Complete the following analogy

7] 3 @
[4]2]5]:[1][2]3]::@]|b]e): 2
=] 5] e/
(a) (d)
ay Clb(d .@ bl{c
\e \e/
() (a)
@ @blo @ &
9 SO

085 Choose the odd one out:
(1) School
(2) College
Hotel
4) University

086 Complete the following analogy :

:ATRS::PLAN:'?2 .
ALNP

(2) ANLP
(3) ANPL
(4) LANP

087 Find the missing number of the given
series? 9
(1) 24
3) 19
EN/HOLAB/6/24_A]

17
4 23

20

184 Frfafas geasaar S qur Y

] o 2
[zl [A2[3] = @Blo: »
3] 5] e
(a) (@)
1 Cpld 5 @[blc
\ \&/
o) )
@3 @blo 4 CGldle
\d/ \&/

086 frr=ifwiaw geaewar @t gof &Y :
STAR : ATRS :: PLAN :
'.(1): ALNP
'(2y ANLP
(3) ANPL
(4) LANP

4

087 77 Y@ B G WEAT S DY

2,5,10, 2,26
(1) 24 @) 17
(3) 19 @) 23

[ Contd...
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088 Complete the following analogy 088 fr=fuflae geoeaar & qui &Y —

%BA:?::(’:’Xﬁ:_?_. BDA:7::CAB:_?_
(n 3 .6 (1) 3 (2) 6
3) 5 @ 9 3) 5 @ 9

089 Find the odd one out : 089 o Rrer T ST B :

(1) Summer (2) Winter

. (1) A @) W=
. Season (4) Spring ' (3 Youg Gl e

090 Find the odd one out : _
090 o/ § =1 &f s &Y ¢

@ 121 @) 99
. 135 4) 143 (1 121 @) 99
' (3) 135 - (@) 143
091 Choose the odd one out :
P 3 »F A 091 o & fr=t &t g :
= BEIK (2) CEGI 3
(3) ACEG (4) BDFH (1) BEIK (2) CEGI

(3) ACEG (4) BDFH

092 Find the odd one out :
092 o ¥ i oY S B ¢

o X @ EB [X ;

()

o “lA&
. o[ oA

EN/HOLAB/6/24_A] 21 [ Contd...
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093 Arrange the following in the ascending

order.
(A) Year
(B) Month )
(€4
(C) Century 10
QN
D) Week A
. (X8
(E) Day

Choose the correct option from those
given below: 7

(1) ). (). B). (A@?,(C)-
@ @), ®B). D), (AE’E_;@

(E), (), (B), (AYX(C)
@ @), D) (A), (C)®)

€3)
094 Arrange the followingwprds as they occur

in the dictionary: L-g;
2>(A) LETTER 0
25 (B) LITIER =
2 (C) LEMON *
—>(D) LITTLE g::
- (B) LIZARD 10
Choose the correct oﬁ!jﬂn from the
following;: w0
(1) (©), (A), (D), (B), (B)
2) (C), (D), (A), (B),(E)
1‘@@@%@
@A) (©, B ERNE)
EN/HOLAB/6/24_A ] W 20

093 PreifiRaw # g RIS w7 & raRad B .
(A) a¢

(B) =
()
(C) gremey ?
(D) wwE -
O
EB) = e
R Ra o el ¥ ¥ @€ Ry @1 T
HIfTg—

® @6 @), @HTo
@ ®:®) O, A%T0)
3) ®, D) ®), (A)%C)
@ (B), (D), (A), (C), (B)

094 m&mﬁa@mﬁwmﬁ#
WRT—
(A) LETTER ,:‘g
(B) LITTER B,
' (C) LEMON
(D) LITTLE h
(E) LIZARD |
Rt ¥ 3 e R o g ARG -
(1) (C)(A) (D), (E){(B)
(2) (©), (D), (A), (B), (E)
(3) (C), (A), (B), (D{%IE)
4) (A (©),(B), (D)i;(E)
0
jie [ Contd...
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095 Figures A and B are related in a particular | 095 = A it fa= B e fafye <01 @ gafaa 3
manner. Establish the same relationship fredi AR g M Rm Celnkm D&
between figure (C) and (D) by choosing a O T T W FT E e 0T Rre
figure from the alternatives, which (?) B wRreRe B ¥
replaces the question mark (?).

DR | DS
AN (A) B) © D)
(A) B) © ®
o PR @ DN o X o PR
P ‘ 1
® X oK o K| o &
- -096 ﬁmﬁﬁgam@ﬁlﬁrﬁﬁ?—iﬁﬁqwﬁﬁm
096 Which of the following shapes is a part of ;

Teh AT & ¢
the given figure? :

o /N @ | oA\ o\

3) 3) @
097 Which number replaces the question | 097 - e s RieT (?) ¥ =F W gy ?
mark?
Q' l’ QI ', Q: lE:)
B @ 6) (5
(6) 1) i
(1) 8. @) 17
1 8 3) 9
3) 9 (4) 14 @) @ M
EN/HOLAB/6/24_A ] 23 [ Contd...
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098 Find the missing term in. the following | 098 fr=fafas gar ﬂf”@rgﬁ g $1TA DT —

series: ot abc, abce, abbee, _?_, aabbcecc, aabbbece,
abc, abec, abbee, £7 , aabbcecce, aabbbece. (1) abbeea 5
. G
(1) abbeea 5 &) b | L{“;
(2) mabbooe g (3) aabcc E
) st 8 (4) aabbee 9
. aabbcc WO
W
i - | 099 maﬁﬁawwﬂﬁqvﬁaﬁm@ﬁf
099 Select the correct figure which will TE A o R —
complete the given grid - 533

%
£

2%

‘645% }X{s:@%ag
»

.

K o

S )

b 4

A

@
W 2
"

0
3) 0“\ @ 3) E w4 E
Q‘}!
o
v;p W
100 Complete the analagy : 100 FeI&aar @l quf &y
Crickct:Bat::Hé’gf{ey:_?__. firche : 92 (Sw=) ::3‘“85;‘5,:{;._?_,
8 Field | (1) o @M o
Sk o (@) fem (o R T o)
3) Pl O
oy Fae il () W )\
(4) Ball @ @) i @)
1y
EN/HOLAB/6/24_A ] 24 [ Contd...
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Instructions : Each question has four options.
There is only one correct answer fo each
question. Choose the MOST APPROPRIATE
option and darkewfhlacken the corresponding
circle on the OMR¥nswer Sheet.
=
SECTION - ‘D’ ::(é:ENERAL KNOWLEDGE
W
101 We mainly get energy to do work from:
(X) Proteins
Vitamins
Fats andcarbohydrates
Mineralsy
S |
102 Children whoTlive in the plains would find
it difficult t&}walk on the mountains
because:

"i They are lazy. ”

The paths are rocky and uneven.
The paths are very smooth.
4

mountah'?s.

W
103 Where is ChaxMinar situated?
(1) Jaisalmer
(2) Puri

i3 i Aurangabad

Hyderdbad
0
Te)
104 Earth takes hew many days to revolve
around the Sun?
(1) 365 day®

1
365A days
1
2 Gy
(3) 365 Ooys

1/ k)
(4) BGSA «lays

V)
EN/HOLAB/6/24_tA)]

There aféno transports available on

T : yeler 7977 @ T fraseq & | Icieh 997 o7 derer
qes {8} T & | W Suge [ereed @ give sie OMR
MWWWWQE#WWI
<jf
ﬁwm—‘l?g:mmaﬁ
101 &7 %™ % fig St Jeaa: T B €
(1) 93

3) amuawliﬁ%ﬁ%m@r

@
i.i'J

ﬁmﬁrﬁiﬁﬁ'{ﬁaﬁaaﬁ'%ﬁmﬁﬁw

AT BIST BT Fifed :

(1) T el e B

(2) TEEI TR TR T Ses—ues By &1

(3) o T fgA g AR ¥

C)) Wﬂﬁﬁqﬂﬂﬁ—mﬂﬁ@?fl

102

(]
103 9 W HEl JaRaa ¥ ?
(1) SR
2 g &
3) &mEE o0
4 T Y
<G
0
geft gd Y uiieman b i ¥ i ey & 2

(1) 365f=

Va
(2) 36574 ﬁg‘\
@) 3652 )

u:gi
4) 365/

104

[ Contd...
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105 Who is the author of the famous work,
“The Man-cater of Malgudi’?

(1) Rabindranath Tagore
(2) Ruskin Bond
@ RK Narayan

yvf G.V. Desani

106 AKhuntiis
. An implement used to dig the soil
(2) Aniron pole to tie cattle
@ A earthen pot to cook food

(4) A musical instrument

107 You put a glass of water in the sun. After
2 days, the glass is empty. Where did the
water go? ‘

&
@
)

(4) It turned into nitrogen

It evaporated
It condensed

It ﬁ"oze

108 Best friend of soil is :

(3) Insects
(4) Snakes

EN/HOLAB/6/24_A]
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105 wfrg 3= — ‘T A9-%eX A% AR %
TIATHIT B & 7

(1) &g &R
(2) few ats
(3) &3, ATEr
(4) e TEE

106 % :

(1) P @ & s el

(2) AR F St & Rig AR & @

(3) ey g el & g

(4) TH T

107 o ¥ & e uri o W O Rreme w@d g e

f& =, e @elt 8 S @ | ar et !
(1) <% arsdfiga & T
(2) % Hufra B T
(3) =& W
(4) =® R X wRakia &
108 T 1 Tad BT B A & ?
(1) ush
(2) &9q
(3) =@re

4) dm

[ Contd..:
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109 What is the name of the cldest brother

among, Paridhvas?
(6%}

(1) Bheemy

@ Yudishiher
0
W0

(2) Arjun
(4) Karna

110 Bihu dance belongs to which State?

111

112

113

114

. - Assam (2) Gujarat
3) Bi__halb\ (4) Punjab
(53]

L<
Wahida Prism, Lieutenant Commander in
the India:rjgNavy is what type of a
professional?

()
(3)
4)

Doctor

Software Engineer
(&)

Chefiey»

Teac@r »
e .

) ;
How many gold medals did India win in
Asian Games held in 20232

(W 28 o @) 52
@ 2 5 @) 14
LO)
<
Which supgr sense is activated by langur
while warhihg others of danger?
(1) Sighl (2) Sound
(8) Skin @) Smell
(&)
. o0 z ; ; ;
Which ong out of the following animals
has a veryssfrong sense of smell?

(1) RabR - @ An

(3) Cat x (4) Monkey .

EN/HOLAB/6/24_A]

109 vizelt & ¥ Tl 93 Wi 1 A w7

() Mmoo, (2) erfw
(3) Fhret 0 4) ol
Lf)
1
110 %wwﬁ%ﬁmm%%?
(1) o (2) Terw
(3) fwr @) v
o
11 e S resie stex advar fiom
-vsiaiaﬁmmrsﬁsﬁém%?
1) R (6
(2) wTreEER SWtET
(3) i
(4) gy
Iy
112 2023 ¥ g qiard Qe ¥ sree 3 gor Bk
ol gee Shk
(1) 28 2) 52
(3) 42 @) 14
)
00
113 &1 SRl REAE B SRE 3 9 R
ﬁﬁﬂ—ﬁrm@@umﬁmﬁr%?
(1 s W (2) @ty
(3) @ 4) Tu
114 fFrafafea ¥ few vy ¥ g & orafis
BT & 7 :ﬂ
(1) mvfmui: 2) #@&
(3) Rl O 4) W=
[ Contd...
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115

116

117

118

Which one of the following is a non-
renewable resource?

i
@
3)
@)

Petrol
Wind
Bio-gas

Solar

In Jammu & Kashmir, what does -‘Yakhni’
refer to?

p}’) A piece of cloth worn on head by
men

@ A non-vegetarian dish

(3) A cultural festival
(4) A form of local dance

“Tadpole’ is in the larval age of which

animal?

(1) Dog

Birds like kites, eagles and vultures can
see things from a distance of :

(1)
2)

@

“4)

two meters
four meters
eight meters b

twenty melers

EN/HOLAB/6/24_A ]
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115

116

117

118

et & § I O ST dam
()

(2) =g

(3) dmrtE

@ ¥

WH-HMR H gE’ § a9 arad § 7
(1) gost R RIT O3 & e I et
(2) TH HEERY =T

(3) UF wiepios 9

(4) w7 & TH BT

AR g A e’ e uy ¥ daRm ¥ ?

(1)
2) "=

'(3) Noh

@) =0

o, TES T g S wal R g @ o 3w
ThA &7

(1) Ff=x
(2) I HRI
(3) o X
(4) e

[ Contd...
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119 Which solution is given when a person has

120

121

122

EN/HOLAB/6/24_A ]

vomitting and loosc motions?
(1) Milk shake

)
3)

Lemon water
Fruit juice

Salt and Sugar

Which one among the following is NOT
a natural way of food preservation?

()
Q
©
4)

Drying
By adding preservatives
Salting and sweetening

Pickling

‘Which leaves can be kept in box to protect
the seeds from the insects?

)
@
3)
@

Neem
Banyan
Banana

Mango

Which of the following works can NOT
be done with water that has been used
once?

(1)
)

2
)

Mopping the floor
Washing hands and face
Watering plants

Using in the toilet

29

119 s ofic o @ Rafe & fedr i &

HI-a1 e far san § 7
(1) P 9%

(2) g amr

(3) el @1 |

(4) & T dE

120 Freffac &  orar @rer §EoT BT Uihicrdh 7t

121

122

TiE?

(1) garm

(2) @ yfEs Rt

(3) i T A @ Werdar o

(4) smER g9 ™

Seft o el & gy 3 g feed & il B W
FT-F TN IR E?

(1) Hm

(2) TTE

(3)

4) am

FrfoRaa & ¥ few &m & fog 0@ IR g
Y for 7T g @ SuanT @ feRar ST Wt ?

(1) WSt X qieT @

(2) <=ET T TS €
(3) il Y qF &
@) e ¥ SREW ST

[ Contd...
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123 Which of the following devices is used to

mcasure body temperature?

(1) Lactonéler
0
(N

(2) Barometer

Lo

L)
‘ Thermometer

(4) Speedometer

Gy
0
)
=5
124 How many spoekes are there in the wheel
placed in the'tentre of the Indian flag?

(1) Twenty six

et
(3) Twenty,one

&
(4) Twenty eight

)
58]

125 Who wrote ‘Ramayana’?
Q{ii

(2) Vedvyas

(3) Kalida§)
1£)

(4) Gya nc?lj‘War
0

EN/HOLAB/6/24 ‘A ]
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123

124

125

Pr=fifae & @ Rrg o3 &1 s sl @

TH = & ferg Rear S ® 7
H
(1) Fernirex ;
@ e o
)
(3) wHmREY
4) wWEmMrR )
5
T e 3 S Rt @ o g o
W & ? )
(1) s=m
¥
@ @
=
@3) ww M
ml_
(4) ooy

i)
il

(1) e ..jl
(2) =W

@) whEw
4) TR :':

£
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